JOREET PR 24 EERT HIREBR T

1. 2% o OB y = y(x) 122\ COMD TR AT, (410 45)

x Yy —x
1) o = -2 2) o =
1) y=-7 @)y ="

(3) (2z 4 e¥)dx + ze¥dy =0 (4) zy +4y = a4

2. B x Oy = y(x) IZOWT, o THNOEEEREZ VT, (15 5)

vy =e -y  (v=ay)

3. ZEt DR x = x(t) \ZOWTOHIHMERE
2"(t) — 42’ (t) — 122(t) =1, z(0)=0, 2'(0)=0

ZfEF. (15 /)

4. BEt OB v = x(t) IZ OV T ORI RE
2"(t) +32'(t) —4x(t) =0, z(0)=0, z(1)=1
gt (15 )

5. B¥x Lt O2EBBIE y = y(x,t) ITOWT ORI T

0 0 . .
%y(l'7t) - ay(%t), y(out) =c, y(%O) =€

ZIRDNAFF THET. (%5 /)
(1) R TR E y(0,t) = Z t TTTTALME L. 727120, Li(y(z,t)) =
Y(z,s) &95.

(2) (1) TRO7ZGBRE 2 TT T T AL L. 727L, L(Y(z,5) =Y 5) &
T 5.

(3) 77T AuiZE Mz I TR IT RO R 25K D K.



